








REASON = 5
BELIEVED = 7
GOVERMENT = ?

(1) 6
(2) 8
(3) 9
(4) 10



21 – 9 – 17 – 34  = 44 – 20 – 36 - 70
33 – 51 – 3 – 12  = ?

(1) 66 – 102 – 8 - 24
(2) 68 – 102 – 6 - 26
(3) 66 – 104 – 6 - 24
(4) 68 – 104 – 8 - 26



Find the missing ONE (?)

57 : 132 :: 62 : ? :: 79 : 240

(A) 56

(B) 306

(C) 184

(D) 124



Find the missing ONE (?)

146 : 83 :: ? : ?

(A) 100 : 64

(B) 219 : 63

(C) 135 : 71 

(D) 154 : 56



Find the missing ONE (?)

5624 : 52 :: 9723 : ?

(A) 54

(B) 74

(C) 76

(D) 56



Find the missing ONE (?)

173 : 798 :: 261 : ?

(A) 621

(B) 818

(C) 688

(D) 886



Find the missing ONE (?)

123 - 36 :: ? - ?

(A) 629 - 300

(B) 893 - 991

(C) 569 - 807

(D) 144 - 129



Find the missing ONE (?)

283 : 26 :: 124 : ?

(A) 14

(B) 18

(C) 22

(D) 15



Find the missing ONE (?)

121 : ? :: 196  : 56 :: 361 : 76

(A) 66

(B) 44

(C) 36

(D) 34



Find the missing ONE (?)

2809 : 53 :: 1504 : ?

(A) 32

(B) 31

(C) 33

(D) 35



Find the missing ONE (?)

527 : 13 :: 794 : 19 :: ? : 16

(A) 123

(B) 629

(C) 558

(D) 340



Find the missing ONE (?)

82 : 72 :: 75 : ? :: 97 : 83

(A) 63

(B) 50

(C) 42

(D) 43



Find the missing ONE (?)

24 : 288 :: 10 : ? :: 16 : 128

(A) 20

(B) 30

(C) 40

(D) 50



Find the missing ONE (?)

82 : 69 :: 33 : ? :: 25 : 37

(A) 15

(B) 38

(C) 32

(D) 30



Find the missing ONE (?)

16 : 224 :: ? : ?

(A) 20 : 400

(B) 22 : 440

(C) 25 : 650

(D) 17 : 289



Find the missing ONE (?)

562 : 30 :: 663 : ?

(A) 44

(B) 49

(C) 54

(D) 58



Find the missing ONE (?)

5 : 75 :: ? : ?

(A) 8 : 192

(B) 7 : 83

(C) 6 : 36

(D) 9 : 343



OPTIMIST = LKRNRGHG
PESSIMIST = ?

(1) HGRNRVKHH
(2) HHRNRVKHG
(3) VKRNRHGHH
(4) KVRNRHHHG



Statement : The killer enteric fever has so for claimed 100 lives in some tribal 

villages in M.P. during the past three weeks. 

Course of Action : 

I) The residents of these villages should immediately be shifted to a non-affected 

area. 

II) The Government should immediately send a medical squad to this area to 

restrict spread of the killer disease. 

कथन: पिछले तीन हफ्तों के दौरान एमिी में कुछआपदवासी गाोंवत ों में जानलेवा आोंत्र

बुखार ने 100 लतगत ों के जीवन कत समाप्त पकया है।

काययवाही: 
I) इन गाोंवत ों के पनवापसयत ोंकत तुरोंत एक प्रभापवत के्षत्र में स्थानाोंतररत पकया जाना

चापहए।

II) जानलेवा बीमारी के फैलाव कत रतकने के पलए सरकार कत तुरोंत इस के्षत्र में एक

पचपकत्सा दल भेजना चापहए।



There are five houses A,B,C,D and E. 'A' is right of 'B' and 

'E' is left of 'C' and right of 'A'. 'B' is right of 'D'. The middle 

house is

A,B,C,D और E प ांच घर है A, B के द य ांओर है और E, C के ब एां और A 
के द य ांओर है। B, D के द य ांओर है। कौन स घर मध्य में है?

(A) A (B) B

(C) C (D) D



Statements :

Only a few spoons are bottles.

All bottles are clocks.

No clock is a stool.

Conclusions :

I. At least some spoons are 
clocks.

II. All spoons can never be stools.

कथन: 
केवल कुछ चम्मच बततल हैं।

सभी बततलें घप़ियाों हैं।

कतई घ़िी सू्टल नही ों है।

पनष्कर्य: 
कम से कम कुछ चम्मच घप़ियाों

हैं।

सभी चम्मचकभी सू्टल नही ोंहत

सकते।



Statements :

Only a few spoons are bottles.

All bottles are clocks.

No clock is a stool.

Conclusions :

I. At least some spoons are 
clocks.

II. All spoons can never be stools.



Who among A, B, C and D is the youngest ? 

I. C is younger than D but older than A and B. 

II. D is the oldest. 

III. A is older than B. 

A, B, C और D के बीचकौन सबसे छतटा है?

I. C, D से छतटा है लेपकन A और B से ब़िा है।

II. Dसबसे ब़िा है।

III. A, B से ब़िा है।

(1) Only I (2) I and II together     

(3) II and III together (4) I and III together    

(5) None of these 


